Seve 04-900-023

Produkt nr. / Product no. / Produkt nr.
Boltpakke

Boltpakke Tunnel alene stiende
Bolt package

Ord. nr.

Dato.
Bultpaket

Sign.

Save AS Séve AB
Grgnnvoldveien 290 EA Rosengrensgatan 32

3830 Ulefoss - Norway 421 31 Vastra Frolunda
TIf: +47 35 94 65 65 Py Phone: +46 (0)31 773 97 00
WWW.S0ve.no s av e www.sove.se

02.25.2025



Seve 04-900-023
Boltpakke / Bolt package / Bultpaket Sign.
04-900-023 Navn Artnr/dimensjon |Ant |Lev
%)) |Torx M8x16 04-000-016 | 57
- Torx M8x35 04-000-035 | 4
(’\,
Skive M8 04-050-008 | 65
-
IT Mabelknapp M8x11 | 04-030-011 | 57
( .
\ Lasemutter M8 04-040-008 | 4
\\ { i
\\ B ’//




